PARTS LIST

for

KitChenAid@)

MIXER
VARIATIONS
OF
KP2670
SOLID STATE

© 2001 KITCHENAID ST. JOSEPH MICHIGAN 43085

7-01 Litho in U.S.A. (Iml) Part No. 4176990



BASE AND PEDESTAL UNIT
For Model: KP2670

1— lllus. Part
No. No. DESCRIP1

Literature Parts 1 Literature P
LIT9706060 Use And Ca
LIT4176990 Repair Parts

9703414 Foot, Rubbe
9703673 Column Ass
9703674 Bowl Suppc
9703474 Latch, Bow!
9703470 Arm, Bow!!
9703458 Rod, Bowl |
9703690 Base And F
Supports
9703439 Washer
9237 Spring
9703487 Clip
9703457 Handle, B
9703442 Roll Pin
9706005 Bowl (6 Qt
9703485 Beater, Flg
9703486 Dough Hot
9703491 Wire Whip
9703426 Cam, Adju
3400200 Screw,
1/4-20 x 3
3400018 Screw,
10-24 x 1/
9703307 Clip
9703698 Handle

FOR ORDERING INFORMATION REFER TO PARTS PRICE LIST
4176930 4



CASE, GEARING AND PLANETARY UNIT
For Model: KP2670

Hlus. Part
No. No. DESCRIPTION
1 9703311 Gearcase Motor Housing
2 9706034 Motor
3 9703315 Cap, Attachemnt
Hub (Hinged)
4 240374 Thumb Screw
5 Band, Trim
9706069 Japan
9706075 All Others
6 Power Cord
9706064 Australia
9706063 International
9706072 Japan
9706065 Taiwan
7 9703671 Transmission
Housing
8 9703352 Control Assembly
9 9703312 Sensor, Hall
Effect
10 9706090 Washer
11 9703434 Washer, Fiber
12 9703340 Gear, Pinion
13 9703438 Retaining Clip
14 9703314 Agitator Shaft
15 9706042 Planetary Assembly
16 9703339 Gear, External
17 9703446 Worm Gear
18 4161950 Retaining Pin
19 9703543 Gear, Worm
Follower
20 9703338 Gear, Attachment
Hub Bevel
21 9703337 Gear, Bevel
22 3400617 Screw, 6-32 x 1/4
23 3400814 Screw, 8-32 x 5/8
24 9706047 Lower Gear Case
25 9703680 Retaining Clip
27 3400200 Screw (3)
1/4 - 20 x 3/4
28 Bearing
9703560 Front
9703570 Rear
29 9703445 Thrust Bearing
31 9706247 Seal, Motor
Shaft
32 9703381 Gasket,
Transmission
33 9706073 RF Filter

FOR ORDERING INFORMATION REFER TO PARTS PRICE LIST

3 4176990



CASE, GEARING AND PLANETARY UNIT
For Model: KP2670

Hlus. Part
No. No. DESCRIPTION
1 9703311 Gearcase Motor Housing
2 9706034 Motor
3 9703315 Cap, Attachemnt
Hub (Hinged)
4 240374 Thumb Screw
5 Band, Trim
9706069 Japan
9706075 All Others
6 Power Cord
9706064 Australia
9706063 International
9706072 Japan
9706065 Taiwan
7 9703671 Transmission
Housing
8 9703352 Control Assembly
9 9703312 Sensor, Hall
Effect
10 9706090 Washer
11 9703434 Washer, Fiber
12 9703340 Gear, Pinion
13 9703438 Retaining Clip
14 9703314 Agitator Shaft
15 9706042 Pianetary Assembly
16 9703339 Gear, External
17 9703446 Worm Gear
18 4161950 Retaining Pin
19 9703543 Gear, Worm
Follower
20 9703338 Gear, Attachment
Hub Bevel
21 9703337 Gear, Bevel
22 3400617 Screw, 6-32 x 1/4
23 3400814 Screw, 8-32 x 5/8
24 9706047 Lower Gear Case
25 9703680 Retaining Clip
27 3400200 Screw (3)
1/4 - 20 x 3/4
28 Bearing
9703560 Front
9703570 Rear
29 9703445 Thrust Bearing
31 9706247 Seal, Motor
Shaft
32 9703381 Gasket,
Transmission
33 9706073 RF Filter

FOR ORDERING INFORMATION REFER TO PARTS PRICE LIST

3

4176990



CASE, GEARING AND PLANETARY UNIT
For Model: KP2670

FOR ORDERING INFORMATION REFER TO PARTS PRICE LIST
4176990 2



T \‘\4 , T

ACCESSORY PARTS
For Mode|: KP2679
Hlus, Part

No. N, DESCRIPTION

FoHowing Parts Not Hlustrated

4164778 Mixer Attachment
Pak (Includes Food
Grinder (FG—A),
Food Strainer
(FVsP), And
Vegetable Slicer,
(RVS-A

(FPP-A)
4164749 Food Grinder
(FG-A
4164751 Grain Mij
M-a)
4164768 Pasta Maker And
Food Grinder
(Includeg SNP
Pasta Maker
Plates)
(SN/FG—A)
4164775 Fruit/Vegetab!e
Strainer Parts (Use
With FG-A Modeg|
Only) (FVSP)
4164750 Rotor Slicer/Shredder
With 4 Standarg
Cones) Fine Shredder,
Coarse Shredder,
Thick Slicer, Anq
Thin Slicer ( RVS-A)

an Opener (CO)
4164803 Sausage Stuffer
Kit (SsA)
4160588 Grease, Planetary

5 4176990



